Maths answers for Tuesday 21st April 2020
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Area IS cn?, Perimeter 16 cm
Area 24 cm?, Perimeter 20 cm
Area 35 cm?, Perimeter 24 cm
Area 24 cm?, Perimeter 22 cm
Area 24 cm?, Perimeter 28 cm
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Area 36 cm?, Perimeter 24 cm
Thlnk 26 cm, 32 cm, 20 cm.
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Area 28 , Perimeter 22 m
Area 56 m?, Perimeter 36 m
Area 54 m?, Perimeter 30 m
Area 72 n?, Perimeter 34 m
Area 51 n?, Perimeter 40 m
Area 96 m?, Perimeter 44 m
The perimeter of garden 6 is
twice that of garden I.
Think. No they do not have the
same area. Rectangles drawn
with a perimeter of 2 units, for
example, 1 x 5.2 x 4,3 x 3, will
have areas of 5. 8 or 9 square
units respectively.
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. 3cm
10. 8cm
Think. 2 cm and 5 cm
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I 5cm, Perimeter 18 cm

2. 7cm, Perimeter 20 cm
3. 6cm, Perimeter 20 cm
4. 8cm, Perimeter 22 cm
5. 6cm, Perimeter 26 cm
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6. 3cm, Area 2| cm?

7. 5cm, Area 45 cm?

8. 7cm, Area 28 cm?

9. 6cm, Area 48 cm 2

10. 7 cm, Area 63 cm?

Think. The shape could be a
rectangle. Sides of 7 cm and 3 cm.
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